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Run 5731 mpswise, accO: All
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Eniries: 40104

Mean: 5. 7160 4~ 0.0189

Sid Deery: 56374 +- 00133
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Run 5731, mpswise, acc0: Beam ON, Laser ON

Eniries: 37772

Mean: 12,2372 /- 00047

Sid Dhey: 09050 - 0.00F3
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Run 5731 mpswise, acc(: Beam OFF

Enlries: G820

Mean: -0.1249 «- 001D

Sid Drev: 0.0942 - 0.0007
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Run 5731, mpswise, acc0: Beam ON, Laser OFF

Eniries: 40407

Mean: 1.1625 +/- Q.15

Sid Drev: 02908 +- 0.0071
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Run 5731 mpswise, BCM: All

Eniries: 40104

Bean: 1313223 +/- 0.1493

Sid Dev: 44.5900 +/- 01058
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Run 5731, mpswise, BCM: Beam ON, Laser ON
Entries: 37772

Mean: 1471066 +/- 0.0028
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Run 5731 mpswise, BCM: Beam OFF

Eniries: G820

Mearn: 0U0ME 4~ 00003

Sid Dev: 00284 - 0.0002
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Run 5731, mpswise, BCM: Beam ON, Laser OFF

2 Eniries: 40407

Mean: 146.9654 +/- 0.0044

Sid Dey: 0BT «- 0,000
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Run 5731 mpswise, lasPow: All
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Run 5731, mpswise, lasPow: Beam ON, Laser ON
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Run 5731 mpswise, lasPow: Beam OFF
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Eniries: G820

Mean: 713208 4/~ 0.4689

Sidl Dev: 436275 o~ 03323
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Run 5731, mpswise, lasPow: Beam ON, Laser OFF

Enitries: 40407

Mear: 41852 +/- 0.0548

Sid Dev: 69957 - 0.0246
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Run 5731 mpswise, bpmAx: All
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Eniries: 40104

Mearn: -0.1379 &0 (U000

Sid Dev: 01068 - 00003
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Run 5731, mpswise, bpmAx: Beam ON, Laser ON
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Eniries: 37772

Mean: -0.06987 o (U000

Sbd Drey: 00054 - 0.0000
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Run 5731 mpswise, bpmAx: Beam OFF
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Eniries: G820

Meary: -0.4337 &- 0UDO1T

Sid Dev: 01188 - 0.0009
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Run 5731, mpswise, bpmAx: Beam ON, Laser OFF

Enitries: 40407

Mear: -0.0851 o 0UDG00

Sid Dev: 00088 4~ 0.0000
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Run 5731 mpswise, bpmAy: All

Eniries: 40104

Mean: 05020 +- 0.0005
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Run 5731, mpswise, bpmAy: Beam ON, Laser ON
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Enitries; 37772

Mean: 005500 +- 0.0001

Sid Dhery: D.0288 «- 00001
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Run 5731 mpswise, bpmAy: Beam OFF

Enitries: 8520
1 Mean: 00473 +/- 0.0015

Sbd Dew: 01403 &~ 00071
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Run 5731, mpswise, bpmAy: Beam ON, Laser OFF

Eniries: 40407

Mean: 05540 +/- 0.0001

Sid Drev: 00246 +- 00001
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Run 5731 mpswise, bpmBx: All Run 5731 mpswise, bpmBx: Beam OFF
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Run 5731 mpswise, bpmBy: All Run 5731 mpswise, bpmBy: Beam OFF
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AccO/NAccO

Run 5731 mpswise, beam ON, laser ON
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Run 5731 mpswise, beam ON, laser OFF
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Run 5731 mpswise, beam OFF, laser OFF
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BCM

Run 5731 mpswise, beam ON, laser ON Run 5731 mpswise, beam ON, laser OFF
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Run 5731 mpswise, beam OFF, laser OFF
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Run 5731 mpswise, beam ON, laser ON
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Run 5731 mpswise, beam ON, laser OFF
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Run 5731 mpswise, beam OFF, laser OFF
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BPM Ax

0.2

Run 5731 mpswise, beam ON, laser ON

BPM Ax

0.2

Run 5731 mpswise, beam ON, laser OFF

...¢.|_

L1 1 | | L1 | L1 1 | L1 | | L1 1 | | L1 I L1 1 }‘;1{’3 _IDE L1 1 | 1 1 .'-"C-Iﬂa

20 40 60 BO 100 120 140 20 40 60 B0 100 120 140

mpsCoda mpsCoda

Run 5731 mpswise, beam OFF, laser OFF
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Run 5731 mpswise, beam ON, laser ON Run 5731 mpswise, beam ON, laser OFF
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Run 5731 mpswise, beam OFF, laser OFF
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Run 5731 mpswise, beam ON, laser ON
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Run 5731 mpswise, beam ON, laser OFF
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Run 5731 mpswise, beam OFF, laser OFF
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Run 5731 mpswise, beam ON, laser ON
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Run 5731 mpswise, beam ON, laser OFF
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Run 5731 mpswise, beam OFF, laser OFF
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